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3 print ("PEEE L)
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1 import turtle as t # A turtle JE, BN t
2 def init () :
3 t.screensize (800, 600, 'white') # BIE#—/TENE 800, M ¥ 600 FIH M
4 t.speed(14)
5 t.hideturtle()
6 def upgoto(x,vy): #5 6~ 91T L —" R4 upgoto () . K ML & (2, 4
7 t.penup ()
8 t.goto(x,vVy)
9 t .pendown ()
10 def drawArc(x,y, radius, angle) :
11 upgoto (x,y) # 5B 11~ 1347 F T4 B3I 55 AR 35, O i €6 5
12 t.pencolor('blue')
13 t.circle(2,360)
14 t.pencolor('red") # % 4~161THTLHIIT M angle MR EN —4 270 L1 AR T
15 t.seth(angle)
16 t.circle(radius, 270)
17 init ()

18 t.pensize (10)
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19  drawArc(-200,100, 50, 0) # R A2 — RS 50 19 270° R IR
20 drawArc(-50,100,50,135) # W B2 — SRR 50 (19 270° R IR
21  drawArc(0,100, 50, -45) # WETEF 2 — AR 50 19 270° IR
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23 t.done ()
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1 import turtle as t R 3-5
2 def center(x,y,size):

3 t.pensize(4) # VR R AE Y 4

4 upgoto(x, V)
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6 t.forward(size) # O —KIERN size WHZ
7 upgoto (%, V)

8 t.seth(-135) # 17T i 45°

9 t.forward(size) #H—KKEN size WHL
10 init() # W ORIk A 3-4
11  t.pencolor('red") # WEMBARERNILE

12 center (0,100, 200)
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def topthread(x,y,size):
step=size/10
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3 upgoto(x, V)
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6 t.fd(step* 3) # il — A B E L
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9 t.seth(180) # I BB R AT

10 t.circle(step*3/2,360) # R B L 4R stepr 3/2
11 def hanzi():

12 upgoto (- 90, 200) # NS RB A AR (- 90, 200) &b

13 t.write ("SEMMPEYS", font= ("Arial", 20, "normal")) # T
14 def main() :

15 t.clear()

16 jiemain(-100,100,100) # kAN 3-2
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18 init()
19 main()
20 t.done ()
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1 def arc(x,y,size):
2 t.pensize (4) # UL W E KL AN R 4
3 step=size/10 # LK E S
4 m=x-step/pow(2,0.5) # B A L HUB 94
5 n=y-step/pow(2,0.5)
6 upgoto (m, n)
7 t.seth(135) # BWCE M N T 45
8 t.fd(step) # P — 4Lk B
9 t.circle(step/2,180) # T2 2 B
10 t.fd(step) # PR 1 5y — Ak Bt
11 m=x+step/pow (2, 0.5) # B A L HEE W
12 n=y-step/pow(2,0.5)
13 upgoto (m, n)
14 t.seth(45) # WA By 45
15 t.fd(step) # R KIER step MEE
16 t.circle(-step/2,180) # U B2z ) — > 2 B
17 t.fd(step) # i — SR B
18 m=x-step/pow(2,0.5) # B AR 7 OB 94
19 n=y-size* pow(2,0.5)+step/pow(2,0.5)
20 upgoto (m, n)



.@ [ Pyuthonid = k H MW ] ---------------------------------------------------------------

21 t.seth(-135) # HE AT 45

22 t.fd(step) # il — AR B

23 t.circle(-step/2,180) # G ER 4 22 ) — > 2P IR
24 t.fd(step) # L — R B

25 m=x+step/pow(2,0.5) # WA T HOE B
26 n=y-size* pow(2,0.5)+step/pow(2,0.5)

27 upgoto (m, n)

28 t.seth(-45) 4 T 45°

#
29 t.fd(step) # A RO — A sk B
30 t.circle(step/2,180) # 300 B 22— 2 [
31 t.fd(step) # il — FLR B
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1 def ear(x,y,size):

2 t.pensize (4)

3 step=size/10/2

4 upgoto (x-step* 9*pow(2,0.5), y-step* 9*pow(2,0.5)) # It 7 AE O N (B I
5 t.seth(135) # G E 2

6 t.circle(step* 2,270) # W E 2] 270° R’ IR, 24 2% step
7 upgoto (x-step* 8*pow(2,0.5), y-step*8*pow(2,0.5)) # A0 8 A2 A I T4
8 t.seth(135) # T L 7 I

9 t.circle(step*4,270) # WHHEF 2 270° /IR, AR 4% step
10 upgoto (x+step* 9*pow (2, 0.5) , y-step* 9* pow (2, 0.5)) # B AP R SN B
11 t.seth(45) # B E 231 Il

12 t.circle(-step*2,270) # AT EF 20 270° R IR, 248 2% step
13 upgoto (x+step* 8*pow(2,0.5), y-step*8*pow(2,0.5)) # 1 E A O P TR SRS
14 t.seth(45) # WL n

15 t.circle(-step*4,270) # A2 270° 3R, 242 4% step
K AL ER

(D) U5 3 47 step BN LK 1/10,
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1 def tassel(x,y,size):

2 step=size/10

3 upgoto (x, y-size*pow(2,0.5)) b T L T £ 839
4 t.pensize (step) # WE R

5 t.seth(-90) # T EE T

6 t.fd(step) # 2 g

7 t.pensize (1) #WE U

8 s=x-step # U E Foe 20 ) A0 A A A



